275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

ame L e Tel. 519-884-8555

)7 Toll Free 800-331-7952
Fax 519-650-3334

panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & 1SO14001 REGISTERED SYSTEMS

HINGED EXTENDER ADD ON
Kenworth T680 2022+

INSTALLATION INSTRUCTIONS:

NOTE: Install sleeper panels first so the extender panels can be adjusted for clearance when operating

the hinged extender.

1. Peelthe protective plastic from the top flange of the panel.
2. [Ifthe truck has hinged extenders on BOTH sides:
a. Loosen the two bolts on the bottom of the hinged extender enough so that the new panel can be slid between the
bolts and the bottom of the hinged extender.
b. Slide the new panelinto place and align the rear of the panel with the rear of the hinged extender. Snug but do not
fully tighten the bolts yet.
¢. Open and close the hinged extender to ensure the new panel will not contact the sleeper panel. Adjust the panel
location if needed.
d. Finish tightening the two bolts.
3. Ifthe truck has hinged extenders on ONE side:
a. Follow Step 2 for the side with the hinged extender.
b. On the side without the hinged extender, install the two supplied U-nuts to the bottom of the extender in the
indented areas. The hinged extender side of the truck can be used as a reference on bolt / u nut locations if needed.
i. Inorder toinstall the U-nuts, two bolts on the back of the extender may need to be loosened first. Retighten
these (if loosened) once the U-nuts have been installed.
¢. Install the new panel as described in Step 2b using the supplied M6 bolts with both " & 5/16” flat washers.
d. Fully tighten the two bolts.
4. Peelthe remaining protective plastic and clean with glass cleaner and a soft cloth as needed.

Page 1 0f 3 00813099 02/2023



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

ame L e Tel. 519-884-8555

)7 Toll Free 800-331-7952
Fax 519-650-3334

panelite.com « dietersaccessories.com

Our Reputation Is Stainless! IATF16949 & 1SO14001 REGISTERED SYSTEMS

EXTENSIONS A CHARNIERES ADDITIONNELLES
Kenworth T680 2022+

INSTRUCTIONS D'INSTALLATION:

NOTE: Installez les panneaux du compartiment-couchette en premier, afin que les panneaux d’extension puissant

étre ajustés pour le dégagement lors de 'opération des extensions a charniéres.

1. Retirez la pellicule plastique de la bride du haut du panneau ma.
2. Sile camion est muni d’extension a charniéres sur les DEUX cotés :
a. Desserrez les deux boulons du bas de l'extension a charniéres suffisamment pour que le nouveau panneau puisse
glisser entrer les boulons et le bas de 'extension a charniéres.
b. Glissez le nouveau panneau en place et alignez l'arriére du panneau avec |'extension a charniére existante. Serrez
légérement a main, sans serrer complétement pour l'instant.
¢. Ouvrez et fermez l'extension a charniére pour vous assurer que le nouveau panneau n’entre pas en contact avec le
panneau du compartiment-couchette. Ajustez le panneau au besoin.
d. Terminez en serrant complétement les deux boulons.
3. Sile camion est muni d’une extension a charniére sur UN coté :
a. Suivez 'étape 2 pour le coté muni d’une extension a charniéres.
b. Du coté sans extension a charniéres, installez les deux écrous en U au bas de ['extension aux endroits encochés. Le
cOté avec une extension a charniere peut servir de référence pour 'emplacement des boulons/écrous en U.
i. Afin d'installer les écrous en U, il peut étre nécessaire de desserrer deux boulons a l'arriére de ['extension.
Resserrez ces boulons une fois que les écrous en U ont été installés.
¢. Installez le nouveau panneau de la facon décrite a 'étape 2b, a ['aide des boulons M6 et des rondelles plates de 4" et
5/16".
d. Serrez complétement les deux boulons.
4. Retirez le reste de la pellicule plastique protectrice et nettoyez a 'aide d’un chiffon microfibre et d'un nettoyant a vitre, au

besoin.

Page 2 of 3 00813099 02/2023



275 Industrial Road,

. ® Cambridge, Ontario N3H 4R7

ame L e Tel. 519-884-8555

)7 Toll Free 800-331-7952
Fax 519-650-3334

. . panelite.com « dietersaccessories.com
Our Reputation Is Stainless! IATF16949 & 1SO14001 REGISTERED SYSTEMS

EXTENSOR ADICIONAL CON BISAGRAS
Kenworth T680 2022+

INSTRUCCIONES DE INSTALACION:

NOTA: Instale primero los paneles dormitorio de tal manera que los paneles extensores puedan ajustarse para la

holgura cuando se opera el extensor con bisagras.

1. Quite el plastico protector de la brida mas superior del panel.
2. Sielcamion tiene extensores con bisagras en AMBOS lados:

a. Afloje los dos pernos hasta abajo del extensor con bisagras, suficiente como para que el nuevo panel pueda deslizarse
entre los dos pernos y la parte inferior del extensor con bisagras.

b. Deslice el nuevo panel en su lugary alinear la parte trasera del panel con a parte trasera del extensor con bisagras.
Apriete un poco los pernos, pero ain no completamente.

¢. Abraycierre el extensor con bisagras para asegurarse que el nuevo panel no tocara el panel dormitorio. Ajuste la
localizacidn si es necesario.

d. Termine apretando los dos pernos.

3. Sielcamion tiene extensores con bisagras en UN lado:

a. Siga el Paso 2 para el lado con el extensor con bisagras.

b. Enellado sin extensor con bisagras, instale las dos tuercas en U a la parte inferior del extensor en las areas
indentadas. El lado del extensor con bisagras del camion puede usarse como referencia de la localizacion de
perno/tuerca en U si es necesario.

i. Parainstalar las tuercas en U, serd necesario aflojar primero dos pernos en la parte trasera del extensor.
Apriételos de nuevo (si se aflojaron) una vez que las tuercas en U hayan sido instaladas.

¢. Instale el nuevo panel segtin se describe en el Paso 2b, usando los tornillos M6 provistos con ambas arandelas planas
de 4"y 5/16".

d. Apriete completamente los dos pernos.

4. Quite el plastico protector remanente y limpie con limpiador de vidrio y un paio suave si es necesario.

Page 3 of 3 00813099 02/2023



